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public static void main(string[] args) {
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system.out.println(60%60%24) ;
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class Input {
public static void main(String[] args) {
int age = Integer.parseInt(args[0]);
System.out.print (age) ;
System.out.print(" years have ");
System.out.print (age*x365%24*60*60) ;
System.out.println(" seconds.");
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class XY {
public static void main(String[] args) {
int x;
int y;
for (x = 1; x <= 10; x=x+1)
for (y = 1; y <= 10; y=y+1)
System.out.println(x + "," + y);
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class Fact {
public static void main(String[] args) {
int p = 1;
int i;
for (1 = 0; i <= 10; i=i+1)
p=p*i;
System.out.println("1*2*...%10=" + p);
}
}
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class Fact {
public static void main(String[] args) {
int p = 1;
int 1i;
for (i = 0; i <= 10; i=i+1) {
System.out.println("i=" + i + ", p=" + p);
P=p*1i;

System.out.println("i=" + i + ", p=" + p);
System.out.println("1%2x...%10=" + p);
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class Calculation {
public static void main(String args([]) {
System.out.print ("Seconds of 20 years = ");
System.out.println(20*365%24%60%60) ;

System.out.print ("Weeks of 10000000 seconds = ");
System.out.println(10000000/60/60/24/7);

System.out.print ("Solution of x"2-22x-408=0 is x=");
System.out.print ((22 - Math.sqrt(22*22-4%(-408)))/2);
System.out.print (", ");

System.out.println((22 + Math.sqrt(22*22-4%(-408)))/2);

System.out.print ("Probability of no-hitting game=");
System.out.println( Math.pow(1-0.385,5) );

System.out.print ("Probability of 25 hitting games in a row=");
System.out.println( Math.pow(1-Math.pow(1-0.385,5), 25) );




